H23 H24 H24 H23
H24 24
87%
2
2 H=8.0m L=58.0m H24
3 H=7.0m L=36.0m 1
1
1 1 24
H15 H24 H24
2 4 5400
B/C( )=7.8
3 2900 300 6000 6000
19
H22 H23
29% H24
H20
H=11.0m L=62.0m 1 1 H=11.0m L=62.0m
1 |L=as0m B
H20 H25
A
B/C( )=2.43
A
2 1940 3000 1 3366
A
19
75% H24
1
H22
H=9.0m L=33.9m 1 1
1
L=450m A
H22 H25
A
A B/C( )=125
1 5000 660 3000 1 3030




H23 H24 H24 H23
H23.8
H=5.0m L 2030 o Ha4
=5.0m L=20.0m
H=5.5m L=30.0m H23
H=8.5m L=62.0m
B 70
254
H23 H28 A
A B/C( )=11.67
4 2400 2000 3 7600
A
2 . H24 2
H=12.0m L=76.0m S
H=13.0m L=72.0m H22
1 1
)1800m3 1 1
2 2 A
H22 H29 A
A B/C( )=2.52
9 1900 670 9000 9 40
A
3% H24 2
2
1 H=6.5m L=31.0m 1 H21
2 H=9.0m L=32.0m 1
_ _ H=9.0m L=32m _ o
H=6.5mL=31.0m V=620m3 2 H=9.0mL=32.0m A
H21 H25
B
A B/C( )=6.72
3 7020 6000 1 9180
A




H23 H24 H24 H23
H24 24
- 391
H24
1 H=11.0mL=35.0m 18
1 H=0m 1  H=110m |1  H=11.0m
L=10.0m L=35.0m L=35.0m
H20 H24 24
H24
2
B/C( )=79.68
2 220 7000 4500 4500
H23
L 8%
H=14.5mL=50.5m H23
H=14.5mL=50.5m
H23 H26
C
B/C( )=10.82
2 1500 1500 1 8500
H20 H23
1% H25
H22
16
H=18.5m L=76.0m
H=5.0m,L=70.5m |H=1.5m,L=76.0m B
H13 H25 o2
A
B/C( )=1.26
9 7000 4750 1 4500 2 7720




H23 H24 H24 H23
22 7
0%
H24
1
L=250m T
10
H24 H25 Hoo
A H23
B/C( )=1.62
A
1 6000 1
A
22 7 24
0%
A=1000m2 H24
hoa Hoa A=1000m2 A=1000m2 c
11
H22
A H23
B/C( )=1.01 24
3000 3000 3000
H24
16%
2 2 H22
H=10.5m L=98.0m 1
H=6.0m L=62.5m
H=10.5mL=98.0m
L=695.8m A "
12 H=6.0m L=62.5m
H2l H27 H22
3 2
H24 1
3 1500 3000 2 5108




H23 H24 H24 H23
4 H24 18 7
( ) 53%
2
1 H=9.0m L=59m 2 H24
2 H=10.5m L=58m 1
( )2 1 L=360m H=9.5m L=105m A
13 1 H=9.5m L=105m H=10.0m L=65m
2 H=10.0m L=65m A ) W13 H20
H13 H28 H24 2 7000
A B/C( )=9.12
6 2000 860 2500 3 1360
A
18 7
H21 3 H24 4
4 61%
1 H=55mL=69.0m
2 H=6.0mL=95.0m Hi4
3 H=55mL=922m | | o H=9.5m 1 H=55mL=69.0m
4 H=95mL=64.0m iy L=64.0m 2 H=6.0mL=95.0m A
L=64.0m _ —
1 |4 H=95mL=64.0m
14
H14 H28 A 3 H14 H21
A B/C( )=16.03
6 7740 5000 2 4950
B
H24
12%
2
1 2 H24
H=7.5mL=76m 1
2 H=7.5mL=76m
H=10.0mL=77m 2 A
15 H=10.0mL=77m
H22 H26 A H24 1 5000
A B/C( )=55.21
4 740 2500 3 6540




H23 H24 H24 H23
18 7
H24
23%
2
H20
H=11.5mL=75.0m
H=13.5m L=69m
1 H=13.5mL=69m _ _ B
L=250m H=11.5mL=75m
16
H20 H26
A
A B/C( )=32.53
4 5000 2690 1 6000 3 6920
A
0%
1 H24
2 H=80m
_ 1 1
L=69.0m A 21 8 9
H24 H25 ! !
1 H21 1
A H22,23 2
A B/C( )=10.88
2 1 2
A
15% H24
H24
H=10.0mL=106m
1 1 H=10.0mL=106m A
H22 H26
H23
18 152
A H24 8000
A B/C( )=25.91
2 2000 2000 2000 1 8600 4
A




H23 H24 H24 H23
3 . 23 24
1 H=6.0m L=26.0m S7H
2 H=70m L=310m |2 5 H22 © 10 ”
3 H=65m L=67.0m L"lz'%“r:] 3 H=2.5m L=67.0m
_ e H=3.5m L=34.5m A
L=450m _
_ L=450m
19 L=119m
H22 250m
H19 H25 A
B/C( )=10.97
A
3 2000 1750 3000 1 7090
A
18 24
H24
84%
1 H20
H=9.5m,L=56.9m 1
1
L=100m  |H=9.5m,L=56.9m L=100m A
L=100m 24
20 H20 H24
A
B/C( )=10.27
A
2 910 2160 3400 3400
A
8 7 24
. H24
L=55 L=55 H22
L=75.2m =>om =>om ”s
L=r25m - |L=60m L=160m L=160m B H18
W=4.0m W om Wea om H19 H21
21 H22 H24 : : H21
A Iese )=4.89
A
1 9380 6000 5000 5000
A




H23 H24 H24 H23
16,18
- H24 2
2 ! ! H21
1 H=7.5m L=75.6m H=7.5m L=75.6m| H=9.5m L=75.6m
2 H=95m L=48.0m | H=7.5m L=75.6m |2 2 20
H=2.5m L=21.0m| H=2.5m L=48.0m B
L=60m
22 H21 H25 L=135m L=135m
A
B/C( )=9.66
A
2 5900 8200 8000 1 4000
A
11%
1
8.0 51.0 H22
L=430m 1 18 7
1 B
23 H22 H26
A
A B/C( )=12.60
2 900 3500 1 7720
B
H24 18 7
35% 8
H24
3
H=7.0m L=49m H21 1
L=380m _ B 2 22 24 3
H20 H25 L=380m
24 H24 1 1 9700
A
B/C( =171
A
4 1700 8390 1 3000 1 7630
H18 H21
B




H23 H24 H24 H23
S58 HLL
H24
H=14.5m 22
L=82.0m
V=4,000m3 H22
46 . H=14.5m H=14.5m
CBBO \';v‘_lslg('zrg)m L=82.0m L=82.0m A
” =3.0(4. V=4,000m3 V=4,000m3
L=120m H22 120m
L=340m A H24
H21 H26
A B/C( )=5.51
5 3000 7000 4 3300
A
H25
82%
H=7.0m,L=37.0m H22
L=113.0m 1 L=108m H=7.0mL=37.0m B
1
26 L=113m
H22 H25 H24 1
A
N )=753
1 5000 40 3000 1 3200
A
H24 24
84%
H23
A=1,500m2
4 A=800m2 A=700m2 A=700m2 B
” 3 1 1
H23 H24 oo
B 2
A |Bre )=351
7200 4500 2700 2700




H23 H24 H24 H23
3 H24
6%
1 3 ’
H=9.5m,L=36.0m 1 H22
2 1 1 H=3.5m,L=25.5m
H=10.0 ,L=66.0m H=6.0mL=29.3m | 2
3 1 H=10.0 ,L=66.0m A
28 H=10.0m,L=45.0m 3
H=10.0m,L=45.0m
H22 H27 A
A B/C( )=10.44
3 5000 2 9000 3 3240
B
2 H24 2
1 H=140m
L=69.0m 65%
2 H=135m ) ) H16
L=64.0m H=0.0m H=13.5m
L=45.6m L=64.0m
- - H=14.0m L=70.0m B
29 H=14.0m L=700m |V=1690m3 V=2,000m3
A
16 25 B/C( )=1.84
A
9 1 2350 6750 2 5370
A
. H233
H24 1
1 H=14.0m 35%
L=95.0m
H19
3 H=9.0m 3 1 1
L=56.0m W=20t _ - H=14.0m L=80.0m
7 H=7.0m OO 200 Iv=3 400m3 B
0 L=22.0m L=150m w W=60t
H24 1
B
H19 H26
A B/C( )=3.05
4 2000 4250 5000 2 1780




H23 H24 H24 H23
24
H24
93% 16 10
1 H18 23
H=11.0mL=58m L=75m
L=75m =
L=235m _ B
L=20m L=110m L=110m
81 Hi8 H24 2%
A
A B/C( =172
4 437 6 7730 4500 4500
A
24
22%
L H22 19 JR
H=14.5m L=55.0m L H=5.5m L=33m |H=14.5m L=55m A
W22 H26 V=1,000m3 V=4,960m3
32
A
A B/C( )=2.86
4 1500 6000 3 6270
A
- H23 H24 S58 H18
H=8.5m L=87.0m H23
H=8.5mL=87m
L=350m 1 1 B
L=350m
33 H23 H27
A 27
A B/C( )=
2 5000 2070 2000 2 2940




H23 H24 H24 H23
H24
27%
1
H=0.5mL=44m 1 H21
) 1
L=240m L=50m L=240m A
2 H=8.5m L=40.5m H24 2
H21 H26 5
B/C( )=9.56
A
2 5000 9520 1100 1 4830
A
2
H24
1 H=115m 9%
L=55.0m
3 H=10.0m H14
L=121.0m H=8.5m _ ) 24
H=5m L=40m |L=36.0m HBem Lseom i,
L=381m V=1,800m3 =
35 3 A 3 Hl14 15
H14 H24 H16 H21
5 [Bro )=125
8 5660 9330 3000 3000
A
H23
17% H24
H24 16
H=13.0m L=102.5m H=13.0m
1 L=325m L=1025m B
% H22 o6 V=6,500m3
H24 15
B
N )=2.38
4 2000 1370 5000 3 8620




H23 H24 H24 H23
H2a
%
H24
H=12m L=149m
H=12m,L=144.6m B
37 H22 H26 L=120m
A Ho4 2
A e )=16.52
4 880 5500 3 6900
A
H24 H23
14%
A=32ha H21
A=5.4ha A=13ha A=32ha
A H19 H20
. 21 30 o
B
B/C( )=3.84
A
2 990 2000 1 7260
B
2%
H24 23
84%
H20
2
L=94 L=73.1m L=20.9m L=20.9m B
39
H20 H24 A
N )=10.72
2 3930 5150 4000 4000




H23 H24 H24 H23
18
- H23 2 H25
1 H22
2 2
H=9.0m L=100.0m |L=200m H=12.3m,L=72.4
2 Im H=8.7m B
40 H22 H25 |H=123mL=17.6m
H22
B 1 H18
H19 H21
A B/C( )=33.83
2 5000 5620 8000 1 8280
A
H24
26%
H21
H=10m L=69.5m
_ H=8m L=50m | H=10m L=69.5m A
H21 Hoe | L72%0m
4
H24 1
A
A B/C( )=23.30
2 1610 4000 1 6150
A
H23
o H24
H23
2 2
H=9.0m L=94.5m
- - _ H=09.0m L=94.5m
H=8.0m L=35.0m L=200m H=8.0m L=35.0m A
42 H23 H27
A
A B/C( )= 13.20
3 1940 2000 2 8060




H23 H24 H24 H23
H24
60%
H19
L=230.1m 1
S 1 L=170.1m
L=160m 1 B
43 H19 H25
A H24 1
A B/C( )=4.16
4 3000 7510 1 2000 1 6090
A
24
9%
3
H=100m L=67.0m 3 H22
H=11.0m L=46.0m 1 | H=100m L=67.0m
H=7.0m L=40.0m H=11.0m L=46.0m A
H=7.0m L=40.0m
44 H22 H27
A
A B/C( )=3.03
3 5000 530 1000 3 1600
A
1 H24
93% -
H=13.0m L=140.0m (H=2.0m)
L=800.0m H11
! H=2.0m H=2.0m H=6.2m B
45
HI1 H17
H11 H26 A ‘H18 H26
A B/C( )=15.12
15 9000 2910 3000 1 1290




H23 H24 H24 H23
16 10 24
- H24 23
1 H20
1 H=4.0m L=32.2m 18
H=13.5m L=54.0m
L=120m 1=110.0m L=110.0m B
H20 H24
46 L=52.0m
A 24
A B/C( )=13.35
2 5060 6600 4000 4000
A
H24 6 7
) 12%
1 2 H21
H=10.0m L=61.0m 1
2 1 H=10.0m L=61.0m
H=9.0m L=75.6m 2 B
47 H=9.0m L=75.6m
H2l H27
A
A B/C( )=151
3 5000 1400 3 820
A
1 2 L4 H24
H=8.5m L=43.0m 2 H23
2 Lo
H=9.0m L=46.0m 1 |H=85m L=430m 5
1 _ 2
18 L=250m H=9.0m L=46.0m
H23 H27 A
B/C( )=5.10
A
3 5000 4600 2000 3 410




H23 H24 H24 H23
1 H24
55%
2 H17 24
1 H=110m L=57.0m|, 1
2 H=12.0m L=70.0m 1 2 H=12.0m
L=70.0m B 24
49 H17 H28 H24
A
B/C(
A
3 5000 700 1 565 2
B
10%
H=9.5m H23
L=330 72.0m
H=9.5m
L=330 76.0m B
50 H23 H27
B
A B/C(
3 3000 1000 2 7000
A
16 10
. 19% H23 23
1 H=6.0mL=31.5m H20
_ ( )1
L‘4430m =om =115m
1 A
51 L=440m
H20 H28 3 A
A B/C(
8 1380 4700 6 5260




H23 H24 H24 H23
24
H24 16 10
83% 23
H19
H=9.0m L=119.0m H=3.0m L=75.2m
H=3.5m L=10.3m|H=3.5m L=10.3m A
L=170m
52 H19 H24 H24
A
B/C( )=3.89
A
3 2889 3 5500 2300 2300
A
H24
4%
1 H=70 L-3320 L 2 H23
5 ng'omL:25'0$ 1 H=7.0mL=33.0m
TR 2 H=9.0mL=25.0m
1 1 B
53 H23 H27
A
A B/C( )=9.71
5 5000 1900 3000 5 3100
A
22
23
, 10% "
2 H20
1 H=9.5mL=102.0 I
2 H=85mL=49.0 1 H=9.5mL=1020
2 H=85mL=49.0 B
54 20 26
A 24
A B/C( )=9.71
3 2 7120




H23 H24 H24 H23
16 10
23
2 19% 18
1 2 Ho4 H24
H=14.5m L=85.0m 1
2 H=14.5mL=85.0m
H=9.0m L=40.0m L=300m 2
55 H=9.0m L=40.0m
H20 H26 Ho4 2
15
A B/C( )=3.39
2 5000 1780 5000 2300
A
1 H22
4 73 H24 3
L 3 1
H=7.0m L=106.7m |3 1 CcBEO H24
2 CBBO 519t |/ 2
H=12.5m L=79.3m [H=120 L=70.0m |°= _ H=12.5.m L=79.3m 3 HI3 H17
- H=12.0 L=10.0m A
3 V=1,920m3 Vo1 000ms H21
56 H=13.5 L=70.0m '
4 5 H24 5
H=13.0m L=62.0
H13 H27
A B/C( )=8.09
8 693 1 9320 6000 2 1853 8
A
H24
7.7%
H22
H=13.5mL=75m L i
H=12.5mL=75m A
1
H22 H25
57
Ho4 2
A
B/C( )=10.7
A
3 1 2000 2 7700
B




H23 H24 H24 H23
H21 1 H24 21
0%
1
2 H=145mL=64m , Ha4
L=150m _ _
L=230m 5 H=145m L=64 . H21 8 9
5 _
58 H24 H26 L=350 L=130m 1 H21
H22 H23
A
B/C( =172
A
3 8000 8000 2 7500
A
H24 2 7
29%
H=13.5m L=53.9m 1 H24
L=480m 1 |H=135m H=13.5m L=53.9m
H=2.0m L=20.0m [L=53.9m L=480m
59
H24 8 8 1
H23 H26 A
B/C( )=175
3 4800 1 2060 6500 2 2740
A
H22
- JR H24
H19
135 1465 L=1465 .
JR 262 H=135 117
367.0 561 40
L=367.0
60 10 4.0 10
19 27 A
A B/C( )=1.93
4 2370 4650 2 7840




H23 H24 H24 H23
28%
H23
L 1
H=10.0m L=58.5m 1 1 117 JR
V=2,300m3 1 1 [H=10.0m L=585m
1 [v=2300m3
61
H23 H26 A
A B/C( )=3.99
3 1300 2000 2 8700
A
H24
25%
1 1
H=10.5m L=60.0m 1 L H22
V=2743m3 1 . ) H=10.5m L=60.0m
H=6.0m L=340m|;,—- >0 ) B
V=1100m3 =
62 H22 H25
B
B/C( )=21.19
A
1 6000 1370 7000 1 3630
A
5 16 10
2 ) H24 23
H=12.5mL=115.3m 45
L=138m |, H18
I£(=)419m 4 H=12.5mL=115.3m
1 H= 8.0mL=50.0m _ B
63 L=386.0m ;‘129”‘
L=293.7m W=3.0(4.0)m 16
6 A H18 H20
H18 H28
5 B/C( )=153
5 8000 6090 5000 3 1410




H23 H24 H24 H23
) 16 10
H24 1 23
1 H=9.0m 41%
L=44.0m
2 H=13.0m 1 1 H21
oM oml R 0Om H= 9.0m H=13.0m
L=36.0m L=8.0m L=53.0m B
64
A
H21 H27 B/C( y=4.48
A
3 7000 6390 5000 2 1100
A
24
H23 H24
75%
H21
H=10.5m L=68.0m
L=400m|H=0.0m L=61.0m[H=10.5m H=10.5m L=25.0m
L=25.0m B
65 H21 H24
A
24
A B/C( )=8.05
1 5670 6200 3500 3500
A
24
a3 H24
! 1 1 H22
H=12.5m L=68.0m 1 H=5.0m L=68.0m |H=7.0m L=68.0m
V=2795m3 H=55m L=68.0m |V= 1000m31 V= 2000m3
V= 795m3 B
66 H22 H25 403 403
A
B/C( )=10.04
A 24
1 9510 1 970 4500 7500




H23 H24 H24 H23
2 22 2 16 10
1 23 5 |23
H=125m L=43.0m 61% 2
2 C ) 2 H24
H=6.0m L=31.0m ( ) 34 [H=3.0m L=31.0m
A=5,000 )
) 29 L=120m A=400m2 H24 23
. A=3,429m3( B 2 5946 2
A=400m2 V=8700m3
) A
H17 H26
B B/C( )=1.67
5 600 5410 5000 1 6390
B
80%
H=12.0m L=73 Om H4
V=3930m3 \I-/lfg.ooomsLﬂS.Om H=8.0'm L=73 0
- V=800m3 B
68
HI19 H26 H24 5,120 2
A
B B/C( )=3.0
3 5000 720 5000 1 1920
A
H23 3 H24 18
55%
3
1 H=6.0m L=48.0m H20
2 H=8.0m L=36.0m |3 3 H=4.0m )
3 H=100m H=0.0m L=30.0m [L=62.0m
L=63.0m 0 26 B
69 H20 H27 2 H21 H22
A H24 3
A B/C( )=1.9
3 4000 930 6000 1 8310
A




H23 H24 H24 H23
H24
50%
2 H21
H=8.0m L=485m L=200m W=3.0 1
H=65m L=740m | H=20m 40 m ) )
48.5m 1 H=6.5m L=74.0m B
70 H21 H25 H=6.0m L=70.0m
B
B/C( )=356
A
3 6440 8000 1 1860
B
H24
2 9%
H=8.5m
L=58.0m Ha2
H=9.5 L=51.0m
2 L H=35m L=58.0m B
7
H22 H29 A
5 [B/C )=1.20
5 8000 4000 3000 5 3560
A
H24
17%
2
H=8.0m L=45m H21
H=6.5m L=55m 1
; 1
L=70m L=270m L=70m B
2 H21 H27 H23 2
A
Nt )=2.65
3 6000 2420 7000 3 380




H23 H24 H24 H23
24
T H24
L H=4.5m L=67 H21
H=115m L=67m  |H=5.5m L=50m v:2'5310m_3 M |H=45m L=67m
V=3,700m3 V=1,200m3 = V=2,500m3 5
73 H2l H24  |V=1400m3 Leosm L=25m
B |He4
= 24
Nt =18
3 2230 1 600 7900 7900
A
H24
20%
1
H=145m L=71.0m H21
L=615m L=326m 1
;=2,100mw=3.0(4.0) W=3.0(4.0)m W=3.0(4.0)m1 He145m L=710m 5
1 1
74 H2l H27
A
B/C( =171
A
3 4940 3000 2 2420
A
H24
1 30%
H=10.5m |_=57m1 ot
H=6.9m L=30m 1 1
L=240m 1 1 B
L=340m
75 o1 o A H24 1
B/C( )=1.23
B
3 7000 8390 1500 2 5260
A




H23 H24 H24 H23
H24
6%
1 H24 30
H=9.5m L=103m 1
L=450m 1 ! B
76
H23 H29 H24
A 2 1
A B/C( )=4.15
3 6000 970 2000 3 5030
A
16 10 24
H24 23
71%
1 H21
H=9.5m L=43.0m 1
H=6.0m L=30.0m(L=31.1m L=311m B
H21 H24
" 24
A
B/C( )=6.60
A
1 4170 9930 1100 1100
A
H24 16 10
o4t 23 18 7
1 H21
H=8.0m L=44.0m 1 1
L=166m H=6.0m L=37.3m|H=2.0m L=44.0m A
H21 H25
78
A
B/C( )=20.77
A
1 7000 1500 7000 1 3850




H23 H24 H24 H23
7%
1 H24
H=11.0m L=47.0m 1
1 H=11.0m L=47.0m B
H23 H28
79 H24
A
A B/C( )=6.60
2 1400 1000 1 8600
A
H24
13%
2
1 H=11m L=36m 2 H21
2 H=10m L=68m 1 H=1lm L=36m
1 2 H=10m L=68m
L=240m H=6.0m L=28.0m B
L=240m
80
H21 H27 A
B/C( )=8.86
A
4 3960 5000 3 3900
A
H24 18
51%
2
1 H=9.0m L=42.0m H20
2 H=14.5m L=48.6m 2
1 H=14.5m 2
L=48.6m H=14.5m L=48.6m A
1
81 H20 H25 1 H=20 H22
B H24 1
A B/C( )=4.94
3 753 1 450 5000 1 4750




H23 H24 H24 H23
16 10
- 23 18
1 1 H21
H=9.0m L=615m H=9.0m L=61.5m
A
H21 H26
82
A
A [Bre )=11.82
1 8000 300 1000 1 6236 7
A
H22
16
54% 18
2
H=10.5mL=41.0m 1 H23
H=11.0mL=35.0m 1 H=11.0mL=35.0m
L=300.0m 1
=2,000 B A
A=2,000 2000
83 H22 131,469
H23 H27 A
B/C( )=6.28
A
2 6000 1210 4000 1 8150 ”
B
Z H22 H23
. , s H24 3
H=9.5m L=39.0m 1
2 2 3 H=95m L=39.0m H21
H=9.0m L=52.5m 1 1 2
3 ~ B H=14.5m H=9.0m L=52.5m
H=145m L=a26m |1=25M L2240 ) 6m 3 ,
84 H=145m L=426m H24 !
A
H2l H27 810y 12660
A
4 8220 8500 2 4270 18
120
A
84 307 9513 1 30 5203 39 500 |182 8870 1




H23 H24 H24 H23
4%
2 H23
1 H=10.0m L=450m 2
2 H=10.0m L=40.0m 1 H=100m
L=45.0m A
2 H=10.0m
H23 H28 L=40.0m
A
A B/C( 24.74
3 8500 1500 3000 3 7000
A
20% H24
1
H=95  L=72.0m ! H2l
H=4.0m L=100.0m 1 L H=9.5m L=72.0m R
L=500 H=4.0m L=100.0m
H21 H27
B
A B/C( =12.3
3 5000 520 1500 3 2000
A
H24
JR 20
11%
2 2 H22
1 1 |k
H=14.5mL=110m 1 ;"14'0"‘L‘110m
2 H=125mL=90m _ _ A
L=100m H=12.5mL=90m
H22 H26
A
A B/C( )=60.3
4 2000 1200 6500 3 7800




H23 H24 H24 H23
21
H24
71%
H20
L=710m 1
1 L=230m
16 L=160m | _som . 1 A
H20 H25
A
B/C( )=19.51
A
2 5000 1 100 4000 7260
B
H24
64%
H21
H=9.0m L=41.0m
H=3.0m L=24.0m | H=3.0m H=9.0m L=41.0m A
H21 Ho5 L=41.0m
A
B/C =175
A ( )
2 7100 4500 1 50
A
H24
83%
H12
L=3,000m
10 1 1 L=1300m 1 H12 Hi6
4 A 2 H17 H27
5 H12 H16
H12 H27 L=1,500m H12 H16
A
B/C =4.99
A ( )
25 3680 2550 1 2 8220




H23 H24 H24 H23
3
26%
H=14.5m L=95.0m 3
5 H22
H=14.5m L=55.0m H=13.5m L=97.0m
- _ _ 2 H22
H=11.0m L=85.0m |’~10.000m3 H=4.5m L=55m | |14 5m L=55.0m B
V=3,400m3
v 2727m3 1 HI2 H20
A=13ha ' H=11.0m L=85.0m A 2 H2L
H12 H29 B/C( )=3.34
A
23 8660 1 7530 1 5500 17 7170
B
7 24
H24 1
68%
1 H24
1
. _ H=9.5mL=30.5m |, ,_ _
H=9.5mL=78m P H=9.5mL=30.5m A
20 24
H24
A 2 1 24
B/C( )=3.18
A
2 5000 3250 9000 9000
A
2%
2
H23
H=14.0m 2
L=169.5m h 1 |H=140m
H=95m L=100.5m 1 1 |L=1695m B
23 Hal H=9.5m L=100.5m
A
B/C( )=2.50
A
8 3000 1750 1000 8 1250
A
76 840 4 5500 5 5000 41 9750




H23 H24 H24 H23
a0 H24
H21
H=7.0mL=97.0m H=7.0m H=7.0m
H21 H25  |L=580.0m L=97.0m L=97.0m
H24
B/C( )=49.65
2 6500 6840 8000 1 5160
23
11% 2
1 H21
H=9.5m L=61.0m 1
H=9.5m L=61.0m
H2l H25
24
B/C( )=49.65
3 5000 3 650
2 0
H=10m L=41m 2 ™
H=1.0m H=10m H24
L=41m
1 L H=1.0m
H=11m B
L=45m 1
H=11.0m H24
H23 H27 A 8,000
A B/C( )=2.26
2 8000 1950 1000 2 6050




H23 H24 H24 H23
H24 16,18
2%
1 H23
1 1
4 1 3
L=170m 1 B
L=170m
H23 H30 H24
A
B/C( )=3.16
A
9 2000 1100 6000 9 900
B
H24
2%
H24
2
1
1 2 A
H23 H30
H24
A 4 5 5000
A B/C( )=4.89
5 2400 1000 4 7600
A
23 1500 1 2290 1 6000 21 360




H23 H24 H24 H23
22 7 24
20%
1 H23
H=10m L=30m 1 1
L=80m L=80m H=10m L=30m |H=10m L=30m
H23 H24 Ho
A
24
B/C( =47
1 2000 8000 8000
22 18 7 24
H24
90% ”n
1 H22
2
H=7.0m L=34m H21 8 9
V=770m3 V=150m3 V=150m3 B 1 24
2 21 24
H22 H24 3
A
B/C( =171
A
1 4000 7225 2355 2355
B
21 24
H21
93%
1
L=145m H22
1
6 1
1 1
) B
H22 H24 L=100m
H21 8 9
A
1 H21 24
A B/C( =172
1 9000 1 2900 1400 1400




H23 He4 He4 H23
22 2
Ho4 16
74%
H23
L=100.0m
1 ) L=70m
H23 H24 L=70m B
L=30m
H22 7
A
N )=1.01 "
2 3000 9000 6000 6000
A
22
H25 16
53%
H23
L=300m
1 ) L=250m
H23 H25 L=60m B
L=50m
H2 7
B
B/C =138
A ( )
2 4140 7250 9340
A
22
H25
60%
H23
L=278m
L=160m L=55m L=118m B
H23 H25
H22 131,469
B
A [Brc( )=1.22
1 5000 1 600 3000 4400
A
1 5000 1 600 3000 4400




